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1. Entrepreneurship involves organizing, managing, and assuming the risks pertaining to your
enterprise etc. And an entrepreneur is one who is involved in ALL of these. (G?T&IT'IT T 39 ITH
T e SIS, Uee 3R SIREH &1 =i fosam STaT g1 3R T It 98 & off 39 ol & =i
BT §1)
Ans: True (ﬂ@)

2. Entrepreneurs need membership in physical communities where ideas can be shared and
shaped. (ST &1 1w T H Tewdl B SIS 8! § ofg! [aaRI BT 1= 3R HR
fear s gwar 81)

Ans: True (?I"sﬁ)

3. How to inspire and create entrepreneurial leaders within the organizations? (Wbtﬁ% MR It

a3t o1 UG SR ARy $ He?)
Ans: Both Are Correct (aﬁf ﬂﬁf %)

4. Organizations are not entrepreneurial but people are entrepreneurial. (‘v‘i"'IB_rfG'ﬂTﬁ T8I 8Id qfep
T It B B)
Ans: True (F@)

5. Entrepreneuring framed as intentional iteration creates. (WW%Wﬁ SRIRECHRIE]
IR 39 Al 31)
Ans: Both are correct (G T8l 8)

6. An idea is/defined as the content of cognition. (Wﬁ?ﬂ?ﬁ &Iﬂﬂiﬁlaﬁ

Y H gRHIS

8. How to identify whether an idea is an opportunity or not? (ﬁ UgdH &b T faaR 3faWR % [
T81?) . .
Ans: Both are correct (@‘ﬁﬂ'ﬁﬁ%}

9. Why do we need to evaluate an idea? (‘e!'ﬁw faaR &1 edTh T BT HT%E?)
Ans: To know whether customers will buy the end product of an idea (&gﬂﬂﬁ%%ﬂﬁ?w
YT Tob faaR & SifdH Iarg o1 @i

10. Successful entrepreneurship requires the ability to balance technical knowledge and market
knowledge. (A0 d JEAT & foIT ddb-e! I 3R SR 19 B Ufrd B DI & B
T il 8 1)

Ans: True (Fl'sﬂ)

11. An electrician observed that grocery stores in his area are running successfully and wanted to
open one too. He opened one but was not able to make any profits. Why? @asﬁa@ﬁmﬁé@
% 9% & T T g ThadIgdd ad gl § 3R 9 ot T Wiem o1 Aoy feran) 399 v
T Afh1 BIg GATGT el HHT JHT| Fi?)
Ans: Both are correct (Eﬂ:ﬁﬂ'eﬁ%)
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12. Cash flows S|mply put is the difference between the cash that flows in and cash that flows out.

(P T TR Uec] H, T8 R g O B 37 AT & 3R P q18R S 2 1)
Ans.True(ﬂ"ﬁ)

13, is the value of raw materials held, work-in-process and finished by the good held by
the business. (......... I8 o4 © Sl o AT BT, Ufehar § 1 FT 3R STaur gRT YR faT 1Y
HIBAS)

Ans: Debentures (f?;a?ﬂ)

14. The market should be large and growing while evaluating whether an idea is an opportunity or
not. (S8 T8 Hedidh a1 oITdl § o T faaR SiawR § a1 -1el, T ITo/R 987 SR Fgdl gaf g
EURY)

Ans: True (ﬂ"sﬁ)

15. The venture/business should be of high strategic value to a potential acquirer. (aW/BEITﬁTq DI
HYITId SifIgUIeal & [T S YOS e H1 BT afell)
Ans: True (F@)

16, i is the monetary value of resources, like material_, Iabor, and overheads, used in
the making of a product or delivery of a service. (.................... Tt o1 Hifae HY %
Irft, oW, 3R 3MaRe gy, S U Iadre & f-mfur a1 dar & faaror #f IuanT fabt I § 1)
Ans: Cost (¢TITd)

17. Direct vs indirect'costs are based on their-association with differentcostob acts. (Y& d-TH

18. Costs that'do not vary in the 'short term, regardless of changes in output levels, are called costs.

WR B 9aeld F FIaSE SHeudHTd B e gaedl &, 32 A e o 21)
Cost (Y& < Id)

Ans: Dire

19. Retail companies like Reliance Fresh, D-Mart, Big Bazaar have ... of conversion. (|?é€l SHufal
S e e, S1-01¢, T 96k &1 ... FUidaRur g 1)
Ans: Low To High (M9 9 3=)

20. The key determinants of the cost of goods sold (COGS), which appears on the P&L. (Q%TFQIHFT
B AT (COGS) & U Ry, o peL R fear 3 §1)
Ans: Product Cost (3dTg dNId)

21. ... is the cost of any material directly used in the production of the output. (... Sdlq & IdreT o
1Y IUTNT 1 9 arelt fpadt +f IrEh &t arra g1)
Ans: Product Cost (3dTq ¢IITd)

22. ... cost includes salaries, bonuses, insurance, pension benefits, earned leave paid to the

|nd|V|duaIs involved. ( Wﬁm@ﬁ%aﬂ:{ ah=|¥r aﬁm ﬁmam &Iﬁfﬁ@W ﬁfﬁﬂﬁﬂ!
Wa:ri%srrmasﬁél)
Ans: Surplus (31TI=I)

23. Cost allocation is a method through which a business allocates or distributes an indirect cost

across various cost objects. (fTd 3{ldcd UTh fafer % orgd w1 3 TUdh gqdrg faf¥= arTd aﬂ&ﬁ
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24,

25. ...

26.

27.

28.

31.

32.

33.

34. ...

TR 3 AN BT 3fde a1 fadRur o g1)

Ans: True (?I"sﬁ)

Costs that vary with the output levels are called variable costs. (FI'ITI?f S TG WRI & 1Y
FEadt 8, 3 URad-1 ANTd Fel SiTa §1)
Ans: Direct Material Cost (Jd& ITHUT A1)

costs are those that have been completely consumed or the benefits from which have been

received by the business. (... AT d § SN X1 dRE A IUHNT P1 S b1 & AT oD ATH TG GRT
Te fpT e B 1)
Ans: Unexpired Costs (3{afRT¥ @)

What are the characteristics or traits of a successful entrepreneur? Select the best option. (d%hl

Il 1 R faRivaTd a1 T B 82 Ged 3w fadmed g |)
Ans: All of the above (:{qﬁ?ﬂwﬂ)

What is not a characteristic/trait of a successful entrepreneur? (St I<H! &1 DI ﬁ"\ﬁ'EIFITﬂIUT
T 8?)
Ans: Quits halfway when the situation becomes difficult (@Jﬁ PioT g W M H @BI%’ adr %)

Choose the correct objectives of Finance and Accounting from the following options below. (=ﬁ%r

ﬁnwﬁw‘fﬁ@r%ﬁ&é&%ﬁaﬁﬁﬁgﬁn

Ans: Botha &b

the financial condition of the business on a particular date. ( B%QEI ﬁﬁg A &
SR TTH 1 1 T U TRTHT, Wﬁmﬁﬁmwaﬁﬁ?ﬁnf@rﬁm%n

Ans: TRUE (3g))

Bookkeeping is associated with which part of the accounting? (@I"@W & fpg YT 9 Siarar
efd 82)
Ans: Recording of Transactions (0-& &1 Repifam)

An accountant is required to take part in matters of management, control, and planning of

economic resources. (AEIHR I YaeH, fAT=0r 3R 31fdfes Tareqt &) a1 & ATl § HFT o
3T B )

Ans: TRUE (Jg))

Choose the correct nature of Accounting from the below options. (T-ﬁ%[ feu Tt fawedl T aaied &1
el Ui )

Ans: Botha&b(@‘ﬁa@?b)

is an ideal in which political processes translate the will of the people into public policies and
establish the rules that efficiently and effectively deliver services to all members of society. (...

Teh 3G § ForeH Iretiferep UfshaTy v b1 381 bl WIasiep Aiferdl & sqerel! & 3R I FgHi &
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RYT B & o TATS & U TSR & HRAAYED 3R THTET &7 F JaTd UgH el )
Ans: Good governance (JXITH)

35. Choose the main barriers to communication from the below list. (‘ﬂ%ﬁ"l’s‘ﬂjﬁﬁw ﬁg@r
qrersdl 1 1)
Ans: Anger (ﬁ%[)

36. Choose the Cyber Wellness Value from the following. (ﬁ'&ﬁf@ﬁ T AEaR day H9 %ﬁ D)
Ans: Disrespect (HHIA)

37. Choose the correct option from the following threats under Cyber Wellness. (HIgdR I & dgd
fafafed =i o 9 T8t fase 1)
Ans: Copyright Infringement and Plagiarism (WW SﬁTﬂT%m 9 il)

38. Choose the correct step for smartphone safety from the following. (ﬁ'ﬁﬁ’[@ﬁ 7Y WEHH gRE&m
& fore Tgl waw 1) y
Ans: Security Software (JR&fT AIFEATR)

39. Public Wi-Fi hotspots can give hackers easy access to your phone. (ﬂﬁﬁ% EI'I%U»‘I‘&‘ETEEV'IEF
BHY B 3D B I AT J Ugd UG &R Iabd g 1)
Ans: TRUE (981

40. ICT stands for? (ICT 3T &1 31 82
Ans: Information and Communication Technologies

41. In 1977 Gaevernment of India (Gol) has taken the first major step towards thelimplementation of e-
by the establishment of the National Informatics Centre (NIC). (2977 T YRd WHR
a1 fag (NIC) B RITUT Hb SATG-4 o BIAFadT DI (G=N H Ugal 931 HaH

42. In which year did Government of India (Gol) launch the national satellite-based network NICNET?

(fr e af HRA IBR (Gol) 7 AT I SMUTRT edd NICNET a1l fobar?)
Ans: 1986 (1986)

43. Entrepreneur is an individual who, rather than working as an employee, runs a small business
and assumes all the risks & rewards of a given business venture, Idea, or Good or Service. (B?]"-:ﬁ

e A g Sl HHARI B T H BIH B & S U BT AT Iardl § 3R fopedl feu mu
IS IeH, [I=R, a1 ¥a1 & T SifeH iR REBR A1 1)

Ans: TRUE (Tgh)
44. Select the types of Entrepreneurs from the following. (ﬁ'{;rﬁrlf@?[ T ¥ Ul & THR ﬂe[ 1)
Ans: Botha &c (Eﬁ}[ c)

45. Small firms are more likely than large companies to disappear from the market because of the

following reasons? @ﬁwﬁﬁaﬁ@awﬁ%a@ﬁﬁwﬁw%waﬁﬁ
3HfF GHTTT AT 87)
Ans: Lack of leadership skills (31?16 DI B $¥ﬁ)
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46.

47.

48.

49,

50.

51.

52.

53.

54.

Following are the major mistakes Entrepreneurs do during the operation. (QFHFF[% SRM Igftrl
GR1 1 775 S et Faferad g1)
Ans: Botha&b(EfF-ﬁaG?lTb)

Many entrepreneurs, from ignorance or from too much confidence in their forces reach a setback
due to improper management of business growth and development. (ﬁ I, ST AT 3G
dqTHd IR Tgd SIS SNAIY & HRUI, AT [JH 3R BRI & Sfad Uae & SR Th
BT BT I HRA B 1)

Ans: TRUE (Jg))

Entrepreneurship has been described as the “capacity and willingness to develop, organize and
manage a business venture along with any of its risks in order to make a profit. (GQI&IHT CaRIE]

FHHM & forg foradt +f Sifew & 91y ve saraaiies SoH fawRid o1, afyd o4 3R Usfid
P DI &HAT 3R IB/T b =0 H affd fear mar g1)
Ans: TRUE (98}

The e-District project was conceptualized to improve this experience and enhance the efficiencies
of the various Departments at the district level to enable seamless service delivery to the citizen.

(E-Fora ufEiS T o) 39 SHT B GURA 3R ARG &1 ey Jar faaRor & wem A & forg e
TR R A= faurT &t gqararsti & seM & o srauma fovam wam ur)

Ans: TRUE (981

Applications for new PAN Card process through CSCs in collaboranon with UTI Infrastructure

Technolo Si ry L|m|ted (NSDL).
(UTI éﬁaﬁﬁwﬂﬁ@ﬁ%ﬁ%‘s (UTIITSL) aﬁ?ﬁw fe t fofires
(NSDL) Y CSCs & HIEeAH ¥ U U7 HTs Ufehar & forg 3maeA|)

Ans: TR

Pradhan Mantri Awas Yojana (PMAY):is an-ambitious housing scheme of the Government for
creating affordable housing unlts for the foIIowmg category (E[%I'H'ﬁl'aﬁ 31aT | (PMAY) R R
a;ﬂ'w [T 18t8) TTE-THsT S 3 N-ATL AT T TR R T 2T 7] 'Wﬁﬁmm
gl

Ans: Both Urban & Rural poor (TR 3R 7ol T¥s)

Food Safety and Standards Authority of India (FSSAI) partnered with CSC SPV to provide Food
Business Operator (FBO) registration service through CSCs. (ﬂ-ﬂ'\’_\-ﬂU@WﬁT&ﬂ 3R AFS
UTRIARUT (FSSAI) 7 Tugdt tquidt & a1y gganT far g drfe Tt & Arend & @rel agr
3HTRER (FBO) USIehRUT VaT UG P off b )

Ans: TRUE (Tgh)

Common Services Centres (CSCs) are the access points for delivery of various electronic

services to the rural citizens of India. (W@Tﬂ G (CSCs) URd o A0 ARTRE! BT fafie
oI Jarsll &1 fIavur & forg ugd & A 3 1)
Ans: TRUE (dg))

Digital India is a flagship programme of with a vision to transform India into a digitally empowered
society and knowledge economy. (f$fsred Sfgar us yga PRIHY g OrIeT 967 YRd &) T
feforea wfda=me THTe 3fR I srfcawi & sea g 1)

Ans: Government of India (HRd TRPR)
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55. Select the vision enabl_es by the Common Service Cent(e (CSC) under _the Digigal India _
Programme. (f&fored f$ar HRieHH & d8d AHFG a1 H% (CSC) GRT AU BT T B )
Ans: Digital empowerment of citizens (:ITJTW F1 fSforea WWUT)

56. Common Services Centres (CSCs) are envisaged as assisted front end enabled centres for
delivery of various G2C (Government to Citizen) and other B2C (Business to Citizen) services to

the citizens. (TR JaT &% (CSCs) BT FRIAR 3R Y§ & T & F9 | £fD1d fovan 71 § drfes
AMTReT 1 fAfis TWHR F ARG (G2C) 3R 3= MUR ¥ AFRSG (B2C) Jarsif &t faavor ot
gfaer fird I 1)

Ans: IDT (Information and Digital Technology) (=T Gﬁ?%ﬁ?ﬂ?ﬁ?ﬂﬁaﬂ)

57. A good VLE is someone who has entrepreneurial traits, strong social commitment as well as
respect within the community. (T 3SST VLE GHT 0N, Holed 1o Tiddedr 3R T o
G G 9Tl Sfad g 2 1)

Ans: TRUE (9g))

58. Select the role of VLE society from the following options given below: (ﬁ;ﬂ%@ﬁ fawedi & VLE
AT Bt YfHeT o1 T8 B 1)
Ans: D) Both A and C (@I A 3R C)

59. Jeevan Pramaan is Aadhaar based Digital Life Certificate for Pensioners of Central Government,
State Government or any other Government organization. (STId= UHIUT ol YRDR, T IDGR T

el 3 TRBRY WTE & YA & g SneR Smetid f$fted agw aiéfhee 1)

60. What are the age criteria for an individual to join National Pension Scheme (NPS)? (TI@HW
TISHT (NPS) B e 817 & fore safq ot 31y ATuds 31 87) Ans:18-65 years (18-65 dY)

61. Which scheme:promotes the efficient use of energy at the residential-level through LED lights?

@ I I LEDam%mﬁme%E&rw Se1aT <ol 82)

Ans: CSCFED"Scheme-(HERIFETS] ST

62. CSC Wi-Fi Choupal was introduced to enable last-mile delivery of internet connectivity through

Wi-Fi/Wireless to the urban & rural location of India. (?ﬁ@@ aﬁw&‘a?wﬁ W%"ﬂ?ﬁ 3R
Trfior R H A18-WTs / aRRAY & HIEH I e HAfdeide o sifan Mid ! faavor &) dyg
T & fore o=T fovam T ami)

Ans: TRUE (Tgh)

63. Select the connect feature of Digital Seva Portal from the following: (ﬁuﬁ«r@aﬁ%ﬁw a1
UIcd BT Pride Ay BT 999 D)
Ans: Both a & ¢ (G a 3R ¢)

64. Digital Seva Connect is an identity solution to sign in to the following portal. (%%IEH@HTW

fFofafed uida # w154 39 & AU T uga™ SHYE g 1)
Ans: Service Access Provider (SAP) (Y1 Ugd Wardn)

65. is a term life insurance policy that can be renewed either on a yearly basis or for a longer period
of time. It will provide life insurance coverage on the death of the policyholder. (48 TP 3afy sfiaq
a1 f g FoR a1fifes SMYR WR a1 SEIfeis ©0 ¥ a1 d [T S Al g1 T8 Uiferd! gieex &l
T TR Siia- ST Haxs YaH il
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Ans: Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJJBY) (E[W'H.Bﬁ STa Saifd ST arerT
(PMJJBY))

66. insurance premium is a specified amount stipulated by the insurance company, which the insured
individual should periodically pay to maintain the actual coverage of insurance. (EﬂTIT R TH

fAféy 1 8t 8 it di ot gy FReffvd &1 St 8, o siftyd safad &1 st ot arafas savs
AT WA o fore i 0 ¥ Yae &A1 a1 )
Ans: TRUE (Jg))

67. Pradhan Mantri Gramin Digital Saksharta Abhiyaan (PMGDISHA) is a scheme to make digitally
literate total no. persons in rural areas, across States/UTs, by covering one member from every

eligible household. (FUTFHT UTHTT fefTed Terdr IR (PMGDISHA) T Ao § foret
IR UTHIT &3 | Ieut / B A U=t & A1l B fSired IrerdT Ui BT 7, 8 i TR
P TH 9o D HAR b 1)

Ans: 6 Crore (637_@?;)

68. A Biometric device is a security identification and authentication devices which verifies or
recognize the identity of a living person by the following characteristic: (a@ﬁ%m Uh
IR U 3R YHTUNHRUN IUH Il & SN U Sifad safad &1 Uga &l Jmfid a1 Hr=dl uaH
AT § 39 &0 GRT: )

Ans: Fingerprints (S7Telt &1 3TN

69. The Aadhaar Enabled Payment System (AEPS) glves the foIIowmg bankmg faC|I|ty to the citizens.

70. CyberGr j i i ims at improving the
i) & forrest

g the quality of life. (Wmmwwagasﬁuﬁmao‘m
:nﬂﬂﬁﬁw wﬁﬁ@rﬁu’rﬁgw%aﬁw% ;

Ans: TRUE (FI%’[)

71. Where the first community technical telecentre was opened? (Ug<ll ?i'ﬂ'q"lm THAIP! TobeR
CIHRCINIRIEIR )
Ans: Portland, USA in 1982 (1982 ® UI¢dis, guyd H)

72. Telecentre offers a wide range of commumcatlon services and tend to be publicly owned and
geared towards more isolated people like? W S YR Jarsil T IR UeH Hd1 g
3R 38 TE & 3R 3 Srerraard) ail Bl R H&I TU Q Fidoies Wit 3R ST 8l 87)
Ans: People having formal education @Wﬁ‘%—f@;@ﬁf\&lﬁ

73. What are the main objectives of Telecentre? (é?ﬁ@?? & qJe G%QEI ol %?)

Ans: Overcome barriers to economic and educational developments that rely on

;e_l\\r_ecommunication services. (%?-ﬂm Jaraft iR R enffe ik e fawra & ﬁ*ﬂ!éﬂ‘iﬂ&ﬁ P UR
1)

74. In Europe, telecentres are known as? (@'CI ff, Tl ol 1 ST S %?)
Ans: Community Technology Centers (CTCs) (Y& TENfid! %)
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75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

The deployment of telecentres all across the world is referred to as the (é?ﬂ@?ﬁﬁ @ 'g’ﬁ?iﬂ L}
NUIERSIEEINIR)
Ans: Telecentre movement (é?ﬁ@?? Gﬂ'ffl?ﬂ)

Building a business takes time than it takes to generate the idea for the business of (Waﬂﬁ
& o 39 g7y 3R I8 IR & ot foaR &) Sad - & fofw 999 3ar 8)
Ans: Longer (idl)

Entrepreneurs should not be greedy to grow big, as this needs patience as well. (Cﬁlﬁfﬁaﬁa@;

B & 7T Tt 781 BT =Ry, i H Asl Hit A1)
Ans: False (T¢id)

Entrepreneurs need to have to be successful. (G?I&Pfﬁ P IHd giH & o8 o1 1feT grar %)

Ans: Patience (

........................ is the specific tool of entrepreneurship? (G%T&I?IT %1 fafRry Iusmror %’?)
Ans: Innovation (FdTdR)

Which of these is an example of entrepreneurship? (E?ﬁﬁ ARkl e IYIHAT BT %?)
Ans: Starting up a new type of restaurant in a city. (8% # T U JHR & TKIRT BT RY HATI)

Why is it important to have prior knowledge or relatable expertise to become a successful

entrepreneur'? WW&IHTW%W@WWWWW i Agagul 8?)

select the[best option. @Wﬁﬁ@ﬂﬁﬁwwl
, m@wmmmmwmaﬁwmmw BT UST| T2

Caep

Ans: He did not have prior knowledge of how to run a restaurant. ( wﬁaﬁuﬁaﬂm
BRI

An entrepreneur is one who involved in a FEW of these activities — managing, organlzmg,

mnovatmg, assuming risks,etc. WWW@@WWﬁW@W% UdYH,
TG, AR, SITEH Ses B, i)

Ans: True (ﬂﬁ)

An entrepreneur does the following activities — managing, organizing and makes all the decisions

by himself. (Y& IerH FaferRaa miafafiat o & § - Usier, e iR 3= 3mg gt fAofg dar

)
Ans: True (Fl'sﬂ)

An entrepreneur is a person who takes less risk, avoids experimentation. (Ud It fdd ag g o
F SR AT 7, TR 3 a9 31)

Ans: False (YTdid)

Kinesics is known as study of body language. Ans. TRUE (ﬁﬁﬁﬁﬂ{ YRIRD HIST BT 3T &b
Y H ST ST 3 1)

Ans: TRUE (Jg))
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87. Select the reason of the Copyright Infringement and Laws from the below options. Gﬁ%%qw
ol § HIURTSE Icaa 3R BT BT HRUT BT I97 B )
Ans: Botha&b(EfF-ﬁaG?lTb)

88. Copyright does not exist forever. It applied only for a specific duration. After the expiry of the
specified time, the work falls in the public domain and is then open to the public for use without

the permission of the owner. WW%WWH@@W%I WWW%W%
fore @y gran 81 Ay T T 8 & §1e, ST Irdei-e & B fRar § ok fihR wifere &
A & {1 ST & IUANT & fore e g g 1)

Ans: TRUE (Jg))

89. In social media safety it is important to disabled the following option to avoid revealing your

location to others. (SIel HISTT YR&T | 3= RN ! U+ FRUFT fewm™ @ e & ferg Faferrad
fasmea ) FRfia F=a1 Heayuf §1)
Ans: Geo-tagging (H-cf

90. The main purpose of social media is to create a platform for user to socialize with the following.

arera Hifgan o1 g Igd Fufafad & wr SuahTesat & ot e Wewid s 3 1)
Ans: Both A and B (Eﬁ:ﬁAGhTB)

91. Which of the following is an example of a social media platform? (ﬁ;ﬂ%@ﬁ T o9 Th RN
TS WehiH BT IS0 87)
Ans: All of the above (HUR & H‘l-ﬂ)

92. Social media offers a range of services such as communication, sharing multimedia, etc. (Fi Rl

, FCIHITST STl 3 i SIil fafersr {ar ver v §1)

93. A tax imp@sed by the government on income and business profits or added to the cost of some

goods, sefvices, and transactions is a (fishl, @Tﬂ 3R @F-I & B @ Hﬁ&ﬁ pl AT O STiet UESS
ClLISED - I'Services Tax (GST) (A%

3R T B (Gﬂ@é’l))

94. Time and human life are known as ......................... resources in economics. (B{QfofW
SR AT SNGT BT oo TGIY & =9 H ST 91T 8) Ans: Limited (o)

95. Cashcanbe ........ccccccoeeeeennn. into other assets. (g a3l fSc Tufd! & sga Tod §1)

Ans: Converted (URafdd)

96. Social interest and abilities is better than the following (WTHW 3 3R Traarg fgfofed &
JER B) ,
Ans: Social demands (JTHTTeh HiT)

97. Being helpful is not a good enough quality for becoming an entrepreneur (WG?]ﬁGﬂﬁ%ﬁW
AEETR §HT GaTwd 70T -Tal ©)
Ans: False (YTdid)

98. Entrepreneurship is important for providing. @WWW%WW%) Ans:

Employment
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99. The importance of understanding social interest and abilities is always (WW?T% 3R egarait

! IO BT HEd AR BT B)

Ans: Noted

100. People in social interest can be used to be helped. (FTHINTE® S aTel ART BT SUTNT fobar
ST Gl § S Heg B P o BidT 8)

Ans: False

101. What are the Penalty charges for not paying tax or making short payments (genuine
errors)? (X el HRA TT HH Y H & T <8 Yoo o1 § (ARafad Ffedn)?)
Ans: 10% of the tax amount due subject to a minimum of Rs. 10,000. (WW?@[W 10% 41
%9 ¥ $H 10,000 TG TP ¢S Yeob )

102. In the pre-GST regime, states mainly collected taxes in the form of Value Added Tax
(VAT). Every state had a different set of rules and regulations. (Uﬁ GST YRFAINGHR ff, It =
T/ U § Yo Ifd R (VAT) & 0 H HR I ¥ | TAS I9 & Uy fafirst fam s faferr off )
Ans: TRUE (Hd)

103. In soft skills 'IQ’ stands for? (TTte Rped H '1Q’ BT Hdwd FT 8?)

Ans: Intelligence Quotient (mﬁﬁ@

104. Employer looks for what skills when they make hiring decision. (ﬁgi% fofg ad g
ﬁl‘hﬂ?ﬂﬁ?{%ﬁ HITA ﬁ QT BT 3 1)

105. An employee with a high level of emotional intelligence has good communication skills
and interpersonal skills. (W?ﬁ?ﬂﬁ g % ISP UM 331
TR
Ans: TR

106. Select examples 0

Ans: BothA&C(AGHTCEfI:i)

107. The ability to be diplomatic and respectful even when there are disagreements is also a

key soft skill. (faTa 817 TR +f BI2ed I8 B &1 THRRIYYl 3R Gyl 819 & 7w v g1
e Rpa g 1)

Ans: TRUE (FI%’[)

108. Following are the attributes of soft skills: (ﬁ“}lﬁﬂc@ﬁ it e & Rl % D)
Ans: Botha &c (a cEfI:i)

109. Choose the correct Factors that influencing Entrepreneurship from the below options:

1R Ry e fybetl | Iafiar &) uHIfdd B 9 HR® )
Ans: Both a&c(a\?ﬁ? Eﬁ:ﬁ)

110. Soft skill examples include communication skills, such as voice inflexion and gestures.
@i P & Iae 0 § IR I A &, SR 3T ATl 3R 3IM )
Ans: TRUE ( 9gl)
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112, improves when workers collaborate by sharing knowledge and tools to get jobs
done. (BTAHTS B & foTT J 3R IUS AT HRP BRG] TgaT B T ... JUR
B g1
Ans: Punctuality and output (JHd Reffeaar sk Jdla)

112. Business Communication is a mutual exchange of understanding, originating with the
receiver. Communication needs to be effective in business (BEHTNWWW

UTIhd! & T1Y A BT Th TaTa- gidl & | SR H TIR & THTE! 8141 9118 T)
Ans: TRUE ( 93}

113. Choose the correct basic function of Management in Business Communication.

(TGS WG & UeYd & Jd &1 B g )

Ans: Planning

114. Effective business communication helps in building goodwill of an organization. (U’-'-HT:ﬂ
ARG Ydlg TS 1 3t Yag-=fierdr § Heg Bl g 1) Ans: TRUE (ITR: Ta))

115. Choose the correct option for the types of Business Communication from the below list.
@%ﬁuwﬁwﬁﬁwﬁm%wwa@ﬁm?ﬁl)
Ans: Both A and B (A BG :il)

116. Choose the correct objective of e-district from the below options. (:ﬁ%ﬁ'QTI'Q famedi H e-

Qaﬁwﬁt«r Wlﬁw—lﬁ %é@tv)
Ans: Both a & b (a 3R b &Il

119. ... implements operat|onal technical and business standards for the entire system and
its participants. (... ¥ e 3R I Tfthiferd safaqal & forg Tarem, dob-ie! 3R rauiiie
TS AN HRAT ] 1)

Ans: Bharat Bill Payment Operating Units (BBPOU) (MRd fard YfTdT HaTa-d Sdhrsar
CIEIRIER)

120. FASTag is an Electronic Toll Collection system in India operated by HAI. (FASTag URd |
U® 3o+ ad TUg0T Jomel § o HAI gRT F=nferd farar man g1)
Ans: TRUE (dg))

121. FASTag is currently operational at more than toll plazas across national and state
highways. (FASTag IdH H 1T SR W4 B1$d TR el Wil & ISR R TR Feferd 81 g1
g1)

Ans: 425
122. Entrepreneurs are always looking for new ways of doing things and how they can make

them better. Which trait is being discussed here? (BEITﬂ UM IS I B & AT dARID! AR I
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YR HY I TP & B! I H 81 & | TgT St o7 fRUfy R ==t &t o1 36 82)
Ans: Creativity (XdATHD )

123. Entrepreneurs effectively sell their product or service to clients and customers. Which
trait is being discussed here? (G'élﬁ?ﬂ?ﬂ[

Ans: Communication Skills (SR HI=Ta)

124, Entrepreneurs don’t let uncertainty and potential failure stop them from doing what needs

to be done. Which trait is being discussed here? (Gﬂlﬁ fAf¥aar 3R Juifaa fawraar &1 A &t
3d € o1 5 I8 T8 HR1 gia ¢ | TR I 07 = H §2)
Ans: Risk-Taker (SNRaH IS aTa)

125. International agencies define governance as the exercise of authority or power in order to
manage a country’s economic, political and administrative affairs. (GFRTI@H BUCRIERISEED
TaitH FH3 & forg Tm a1 SifISBR &1 T & U & uRuiid fasan 8 aifes <=1 & onfifes, Ioriifass
3R U= Sl B gt fovam S 9& 1)

Ans: False (YTdid)

126. CSC SPV has collaborated with Dell to provide opportunities in the field of advanced
skills using Solid Edge CAD tool. (CSC SPV 9 Dell & 1Y FA@HR Solid Edge CAD JUdhRUT &dT
SUTNT RSP IAd HIN b &F H TR Y B3 & o JganT fpar g 1)

Ans: Dell

127, W UBT 1 8?) Ans:
Cybercrime (HIgsR 3{URTE)

128. Cyber Ethics:refers'to appropriate, responsible and ethical online behaviour that governs

all our int@raction with other Internet users and emphasizes on the exercise of cyber values.
& Y gAR g Tare B FEfd war | S8R AR gt & R SR Td8)

Ans: TRU )

129. Effective Communication is significant for managers in the organizations so as to perform
the basic functions of management. (J&& T & YU TR Yee & G ST I Huried

FH & o Agagul 71)

Ans: TRUE (9@l

130. What is main direction of communication flow in an organization? Choose the correct
option. (ST H TR VaTe &1 Jd 3= 31 82 Wel fawed g 1)
Ans: Straight Communication (?ﬂ‘c‘ﬂ?ﬁﬂ?)

131. Communication that takes place.betWt_een managers of other Workgroups is c.alled
diagonal communication. (3 Eau] HTI@ P UIYD| b d1d YR DI [(RST TR Hed %I)
Ans: TRUE ( 9@}

132. Various non-verbal components of communication are. (ﬁﬂﬂ%ﬁfﬂ\-ﬁ STAEIRS gch
g1)
Ans: Botha &b (a\?rﬁ'\’bfﬁﬁ)
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133. .is the ability to evaluate, assimilate and exploit knowledge. (I8 JTH T JeATDh, qarfed
AR SYENT B Y &l B )
Ans: Assimilative Capacity (T-ITJT%H &Hd)

134. Absorptive Capacity comes from prior, related knowledge to be able to make sense of,
recognize the value of, and use new information. (3a<d UTAT T &WdT Gd, Ya&fd I I 41T & fob
T TFHRI BT HIAd -, Yoo &1 TgaT- 3R SUAT $HRA & feg )

Ans: True (ﬂ@)

135. is a record of all of a business’ existing assets, liabilities and equity. (TUR ol

it wiiefer Huy, A SR Yoit 1 U ReplS &1)
Ans: Balance Sheet (Sdd U=)

136. What are three financial sheets that used to record and report a business? (BEIWTC[HOAI
T iR Ruld A & fore o foxfta v §2)
Ans: Statement of Cash Flow, Balance Sheet, Profit, and Loss Statement (Wﬁfﬂ?ﬂﬁm,

IgeH UF, 1Y 3R B1 gad)

137. Balance Sheet is a record of all of a business’ revenues and costs over a certain period
of time, typically, every quarter or every year. (ddd- U it ¥ gefdd % D)

Ans: False (YTdId)

138. Equity and liabilities come first in a balance sheet, followed by assets. (Aga- U= T Ugd

Ans: Cash (ﬂWcﬂ)

141. Geeta has a grocery shop; the customers have already paid Rs 5,000 to her. Geeta
decided to pay her supplier Rs.2000 at the end of the week. According to Accrual Basis calculate

her Profit? (fidT % U Ues faiT Bt g ©; UTeh! - 39 Uga ¥ 8t 5000 I3 ¢ feu &1 7far 3 awt
3T STYfeidhd! BT 2000 FUT S HT U foan | THRI YR & TR IHb ATH B1 TUHT H?)
Ans: 0

142. A successful entrepreneur can become rich very fast. (T b d It §gd aon ¥ SHR Bl
THAT B )
Ans: True (Fl'sﬂ)

143. All people who start up a business based on a new idea are always successful. (:|'sc ICEIR

TR 3R IR YR B arad Gt a1 g0 % gid 8 1)
Ans: False (YTdid)

144. 92 % of the startups are successful within the first 3 years of starting? (ﬂaﬁﬁfﬂ BRI
T 92 % URY B3 & Ugd 3 981 & HiaR IHd 8d 87)

Ans: False (TeId)
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145. Starting up a new venture with a new idea is called entrepreneurship. (Ts: ICELRES] Uch 941
PRINEICSCRE Ifiue HEardT § 1
Ans: True (ﬂ@)

146. Entrepreneurship is an opportunity to create wealth (E_ﬂm ¢ §H BT TH AR %)

Ans: True (?I"sﬁ)

147. Accountants worldwide use the triple-entry system to record transactions. (&R RH

TEHR -8 B Rebls B & e Fua-ud womelt &1 IugiT & § 1)
Ans.True(ﬂ@)

148. Transactions are entered into the general journal in chronological order. (@? & Bl HiHH
%A o Y S § o far ST §1)
Ans: True (ﬂ@)

149. is a record of all of a business’ existing assets, liabilities and equity. (Bq'l'cl'l'\’ﬁ
it Micper YUy, < ok oht &1 e Rapts 31)
Ans: Balance Sheet (E'QKVFTEED

150. What is the primary objective of a business? (STIR T WIS LT T 8?)
Ans: To make a profit (ammn%faﬂ%m)

151. What are the key inputs of business? (TR & HH 7YC T 52) Ans: All of the above
@R feu

152.
Ans: Bot

153. ?)
Ans: Solefg T4

154, What is a Sole proprietorship? (Tl T ol %’?)

Ans: A single owner who is also usually responsible for the day-to-day running of the business.

(T Uhd HIfeie Sl 3T AR TR g9 & &+ Tarad & forg off fordieR gl 81)

155. has multiple owners or partners some of whom are also usual% responsible for

the day-to-day running of the business. (........ F U o3 d1faie a1 JI9ieR 8l @IW 1K
&nﬂ?ﬁwvwé?%%w%mmﬁﬁmaﬁ%n
Ans: Partnership (ST2IGRY)

156. What is a corporation? (FRTH &7 8?)
Ans: Multiple owners or partners, some of whom are also usually responsible for the day-to-day

running of the business. (ﬁmﬁ*@mﬁ@m ﬁﬁ'ﬁ@ﬁ?ﬁﬂ mww$%ﬁ$w
¥ forg 1t mieR g §1)

157. Identify a non-example of accounting? How much value in rupees of goods or services
has the business sold (TRIT HT TR-IETERUN DI UAM H<? TR  foba- Hed T T I1 Jarafi &t
faept Bt 87)

Ans: List and details of favorite customers (tlﬂ?ﬂmma”ﬁﬁﬁ?ﬁ GﬁTﬁ'clTUT)
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158. What is the advantage of adopting a value perspective? (ﬂ@%@ﬁm ST &1 BRG]
FIT8?)
Ans: All of the above. (SWR T 7T )

159. According to the Value Framework for Entrepreneurs, select the best statement below.

(ST & 7T 7ed i & AR, i J Ya9Y dekisd 1)
Ans: Value Creation — Value Delivery — Value Capture. ({3 J94 — HBI%ER‘UT — HY Y&)

160. Upfront capital and R& D requirement costs should be high while evaluating whether an
idea is an opportunity or not. (T [ddR B AR BIH BI oid HId THT B Yoit 3R ST
3R fIPTT MazgHdr anTd St BT TMeT AT 6il) Ans: False (TTad)

161. Non-current assets include..................... which typically last for more than one year.

(R-AT FuRAT MA G S IR R T ITd O 31fF T Tddt g 1)
Ans: Plant, property, and equipment (Wiie, Ty 3R IUHRN)

162. What are the common types of current assets? (EI?T'H'F{ Tufoal & 9H UHR 31 %?)
Ans: Cash, Inventories, Receivables, Short-term loans and advances (:lﬁ, HSNR, CUR i,

SgepIfeie U 3R IAfaa)

163. Why is a customer purchasing from a particular store? (U foRy gdId I UTed 1
TR B 61 87)

Ans: Because the customer values the product or service the shop provides. (EI'«‘ZI}IW UEH B

.}is about planning for the uncertain future and deciding what kind of investments should

;?%;.,; s make. (... ST WIS & 1T o1 S SR U8 iR By & ar 3 & i omR

Ans: Fina

165. O repay entities that

provide eepital. Instead, entities are given ownership of the business. (...W%ﬁﬁdﬁﬁ
BT TS aRIHT ¢ b ol IUBHRT Yol YaH HRd §, 3= ATl I &1 Bls Il el gidl ¢ | $TB
T, IUHRUI Y SATUR & AIferpTT 8idT 8 1) Ans: Equity (Fsare)

166. Balance Sheet divided into 2 parts (g U 1 YT fquTfora gian %)
Ans: Assets & Liabilities (WFVRIIT 3R ?RIIHTQ)

167. ...sheet represents the financial position of a business as of a particular date, typically at

the end of a quarter or financial year. (...W@Wﬁﬁﬁ@ﬁﬁ@%ﬂﬁﬁﬁ@%ﬂﬁ
TR HRl 8, ATHAR TR T fammg! a1 fowdta o & ofd &)
Ans: Balance sheet (ddd o)

168. Inventories is the value of raw materials held, work-in-process, and finished good held by
the business. @ﬁeﬁawu@ﬁaﬁaﬁaﬂn@% o8 A gRT ¥ T ], S Ui A |,
3R T 33t R A &)

Ans: True (ﬂﬁ)
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169. Both assets and liabilities are classified as current and non-current. (T-Nﬁltﬁ 3R arsit
Bl I 3R IR-IdHH & FU | arffepd far Srar 1)
Ans: True (ﬂ@)

170. ..are those assets that are expected to be sold or converted to cash or consumed within

oneyear( 3 guftrat € S Swiie &) St @ 7 T av & 3iex 9=t St a1 Ahet # uRafdd
o STQt a1 IuyT fear smam)
Ans: Current Assets (GdHTH Saftan

171. Any income or profit not paid out to shareholders is Called.........................oooeeneel.

(ot 1Y 3T a1 Y O IRYRDT B! TR AT TR, S BB AT B )
Ans: Retained earnings (T@'Q’QCW[%C)

172. ...is also called income statement. (...?-ﬁ mmm%n
Ans: Profit and Loss Statement (¢ITH 3R ETﬁGTﬂT)

173. A trusted adviser promotes a product aggressively to the customer (T fayaa
TATEPR TG Bl U IS Dl MTed HRd §)
Ans: True (F@)

174. How to become a trusted adviser? (U fay-ta gaR®R CaS| Eef?)
Ans: Both are correct. (ﬁ*ﬁﬂﬁ%l)

175. delivery of
ASSUTEd. . Beveeeeeeinssineee AN eeeeeineinn of product. (a7 ATGT 39 UTeH I e ST & i Fferd
FAT ¢ o T TR YRR oo, SR
Ans: Quantity and Quality. (HIAT 3R T[urd=m)

176. Delivering what customer wants is one of the constituents of a service promise. (Gﬁ PIRED
AT 8, SY T a1 aTeT & dcdl & O U §1)

Ans: True (dgl)

177. Why should we identify customer needs? (Bff e P! MAGHAIS DI Tga- DI ol

IR §7?)

Ans: Both are correct. (a:ﬁﬂﬁ%l)

178. The innovation of products based on customer needs is value for the business. Waﬁ
TS ATt IR RE IdTe! Bt TaMEIR 8, AR & o1 Tea g1)
Ans: True (Tal)

179. Active Listening is one of the client reactions to a typical sales pitch (WEFFH Uh
gy St o & U e ufafshan 8)

Ans: True (Fl'sﬂ)

180. Select the correct structures of a good sales pitch? (U 331 faep! fUa &1 Tat WT\Q
gi?)
Ans: Hook and Objective. (8% 3R 3£4)

181. Hearing is the same as listening. WW%W%I)
Ans: False (YTdid)
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182. Listening for enjoyment is called as (3MH& & ﬁfQQf-Fﬂ hgdldl %)
Ans: Appreciative Listening (ARTe-TdHD 1)

183. Why is a customer purchasing from a particular store? (Udh o=y gdId q UEH Rl
TRIERT 3R /1 8?)
Ans: Because the customer values the product or service the shop provides (?Rﬁﬁ" Uledh ghl-
ERTUGH $1 91 aTclt I a1 9dl &1 5 5 )

184. Value is what the shop/store provides to the customer. (G{Qf%\?ﬁ gdI/ TR AEH Bl
Y BT 8 1)

Ans: True (?I"sﬁ)

185. Select the correct statement. (‘v’f@ DY Eﬁl)
Ans: Value is customer defined. (e T8 gRT URHIRA g1)

186. Select the correct statement. (E%T DY Eﬁl)

Ans: Value depends on the features or services consumed by the customer. (Hcd 31 ICELGIE]
7 Jaraft W R a1 & = Igd IuHT Hd 8 1)

187. Where does the value reside? ({<d Hel (A BT %?)
Ans: In the customer’s mind. (W$ fQOmT f[l)

188. Value can be defined interms of...................0. perspective as well as based
on......... i (Hed T URYHINT 6T HPAT B eeeeeeeeeeeeenne 1y

Ans: Customer, price (e, Hd)

189. ich of these is an example of entrepreneurship? (Qq'ﬁfﬁ DI
Ans: Starting up a business based on an old idea, existing business modul
fAR ™ IR Y HAT, HiS[a] AUR Arsyd SR HH Sifed |

P IS8R0 8?)
and less risk. (ER'Ie[

190. What are the different types of taxes typically collected by governments? (Wl'ﬁ Rl
ITATIE: G fafid UhR & &R DIH D19 I STt §d 87)
Ans: Income tax, sales tax, property tax, and excise duty. (3{TI®Y, foept o, Jufy i, 3R
SUTGdR)

191. What does GDP stand for? (GDP T Addd &1 gidl 87)
Ans: Gross Domestic Product (ﬁ‘vﬁﬁm

192. How is GDP calculated? (GDP ¥ TUMT &) STt 87)
Ans: GDP is calculated by adding up consumption, investment, government spending, and net

exports. (GDP @1 TUMT @Ud, a9, WK} oq9, 3R Fafd ¥ A axd & 9t g1)

193. What are the main components of a business plan? (dUR o & HET Uch A1 g
87)
Ans: Executive summary, company description, market analysis, organization and management,
product line or services, marketing and sales, funding request, financial projections, and
appendix. (PTIBRT RITT, HU BT fIaR0r, IO faavur, Wire iR Usied, Iarg a1 Jarsif o
areH, fauur ok fasst, fawfta srRiy, fawfta v, SR ofkfRim)
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194. What is meant by ROI in business? (HTUIR T ROI &1 AdAd &l %?)
Ans: Return on Investment (ﬁa'FZTUTFIT‘l-D

195. Name three types of business ownership structures. (HTUIR W@ WRA1sM & diF UhR
CakIEERIY)
Ans: Sole proprietorship, partnership, corporation (av_dﬁ @i, ?IT@T:{Iﬁ Wﬁﬁﬂ?)

196. What is SWOT analysis used for in business? (@R H SWOT fa<aivur &1 IuanT aai
fpar Srar 872)
Ans: SWOT analysis is used to assess a company’s strengths, weaknesses, opportunities, and
threats. (SWOT fIRAWUT &7 IUANT U &1 dTdhd, HHNRAT, AR R TR\ BT A B B
fore fopam Sman 1)

197. What is meant by supply chain management? (3Tgfc SR UseH BT 1 AAed 81T 87?)
Ans: Supply chain management refers to overseeing and managing the flow of goods and

services from suppliers to customers. (&rrqjﬁﬁsﬁ Y Ted! db A1d 3R Jarait & UAIE ®t MTRET
3R U&ieH P 3MYf Y@l TeieH Hed g )

198. What are the key components of effective marketing? (FHTd! faUUI & H& e &1 87)
Ans: Understanding the target market, creating a compelling value proposition, effective
communication, and strategic distribution channels. (S1&d STSIR ! FHSI, b IRUMGRID qJ9
URATd ST, THTE TaR, 3R Ui fadRor I+a 1)

199. T Bt YfHehT
FIT8?)
Ans: Human resources manage the recruitment, training, and development @f employees,
ensuring ¢ompliance with labor laws and fostering a positive work culture. g Iy
BT U, URIEI0T, STR TR BT USE SRl &, 4H BT T Ui YiAid B § 3R Th YHRIAD
DTH GPiel bl UlediTed PRd & 1)

200. T Ut & T S o/l

&?)
Ans: Financial planning, budgeting, investment decisions, and monitoring financial performance.

(fa<fia g, swifdwr, fRaw Ao, SR fa<ia uexi= &1 Rftemr)

201. What is meant by cash flow management? (ﬂﬁﬁ T8 USY &1 31 Adad gidl %?) Ans:
Cash flow management involves monitoring, analyzing, and optimizing the cash flows in and out
of the business to ensure financial stability. (74! JdTg Yae= T YR F ADH 4l Ud1g B R,
fa=erur, SR Srgger H=AT gIdT ¢ dTfes facig fRRRaT gHfdd 81 9 1)

202. What is the purpose of a balance sheet? (ﬂ'g],iﬂtﬁ Eal B%QEI ol %?)
Ans: The balance sheet provides a snapshot of a company’s financial position at a specific point

in time, showing assets, liabilities, and equity. (ﬁgﬂﬂwwaﬁﬁ?ﬁu@ﬁmwwm
T & U FaRiy gag W, Jufnd, gdrstt, ik gsht femmdr 81)

203. What is meant by strategic planning? (TUW IS BT F1 AT gidl %?)
Ans: Strategic planning involves setting long-term goals and determining the best ways to
achieve them, considering both internal capabilities and external opportunities and threats.

U AT § e TG & T} B! U HAT 3R I8 U HRA & Tad 3wy iy b1 FefRor
HRAT A &, SRS LTSt 3R JTeT Sa¥R| 3R Wakl &I & § 7@ gul)
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204. What are the benefits of conducting market research? (dISIR &@Eﬂ:{ PR P AT T ?f?)
Ans: Market research helps businesses understand customer preferences, identify market
trends, assess competition, and make informed decisions. (TSR 3{JHYH MIRI &I AEH
TEteT, SR 3! B ugaH, Ufaegef &7 Jedie B4 | Hag &dl § iR Jfrd Aol o= o
RERCAICI)

205. What is meant by organizational culture? (FTT3TH® TBid BT 7T A 8T 82) Ans:
Organizational culture refers to the values, beliefs, and behaviors that contribute to the unique

social and psychological environment of a company. (FTGTE® THi 37 oo, fayra, ok
HIERI B! Y Bl & St Ut & IR Franfres 3R AR aTdiaru § aTe $Rd g 1)

206. How does customer relationship management (CRM) benefit businesses? (UTg® &Y
&Y (CRM) STURY T B TH UG HRT 87)
Ans: CRM helps businesses build strong relationships with customers, enhance customer
satisfaction, improve retention rates, and increase sales and profitability. (CRM IR B HIE;Ob\I'
%wumﬁwuaﬂﬁﬁ UGE Rl ¢, TP YAy & YR BT ¢, T@RWIG &3 § YR FHRaT 8,
Y P I3 1)

207. What are the key components of a marketing plan? (ﬁ'CI'UF[ gio T & H& Ycdh Rl %?)
Ans: Market analysis, target audience identification, marketing strategies, budgeting, and

performance metrics. (§TSTR fa<evoT, & E{‘\’Wt@%ﬂ:{ fqgur Yurifear, swifée, iR UeRiA

208. / play ; ations? (31 IR Yl A

5is, and supports innovation in products and services. ( TTe Y4 §914l B,
P H R B! 7, IR B YR &l ¢, Scl [azayur & Jfaursi—d sl 8, 3R Sdral 3R
Jar3ft # AR & AT B 2 1)
2009. What are the advantages of a diversified business portfolio® TIewifera &
T B 8?)

Ans: A diversified business portfolio reduces risk by spreading investments across different
industries or markets, provides stability during economic fluctuations, and allows for growth

opportunities in multiple areas. (ﬁﬁawqﬁqﬁmm-mmmmﬁﬁamaﬁ
PR ST B HH AT 8, e URacd=i b SR fRRAT UaH Rl 8, 3R &3 & & e &
STIR] BT GHTAAT B 1)
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